
1 

 

Annex VIII - Validation checks  
 

1. Single series checks  

 
    Series 8A 

 

    
Rule 

 No. 
Check Severity 

1 

 J62, J582, J631 aggregation checks on : 

TOTAL=P5821+P5829+P6201+P6202+ 

P6203+P6209+P6311+P6312+P9511+RESALE+OTH 

P5829=P5829A+P5829B+P58295 

Error   

2 

M731 aggregation checks on : 

TOTAL=P73111+P73121+OTH 

P73111=P731111+P731112+P731113+P731119 

P73121=P731211+P731212+P731213+P731214+P731219 

 Error 

3 

N78 aggregation checks on : 

TOTAL=P78101+P78201+P78301+OTH 

P78101=P781011+P781012 

P78201=P782011+P782012+P782013+ 

P782014+P782015+P782016+P782019 

 Error 

      

Series 8C 

 

   
Rule  

No. 
Check Severity 

1 

M691 aggregation checks on : 

TOTAL=P691011+P691012+P691013+P691014+ 

P691015+P691016+P691017+P691018+P691019+ 

OTH 

Error  

2 

M692 aggregation checks on : 

TOTAL=P69201+P69202+P69203+P69204+OTH 

P69202=P69202A+P692024+P692029 

Error 

3 

M702 aggregation checks on : 

TOTAL=P70211+P70221+P70222+P70223+ 

P70224+OTH 

P70221=P702211+P702212+P702213+ 

P702214+P702215+P702116+P702217 

 Error 

 

 

 

 

 

 

 

   



2 

 

 

 

Series 8E 

 

Rule  

No. 
Check Severity 

1 

M7111 aggregation checks on : 

TOTAL=P71111+P71112+P71113+P71114+OTH 

P71112=P71112A+P711123+P711124 

Error  

2 

M7112 aggregation checks on : 

TOTAL=P71121+P71122+P71123+OTH 

P71121=P711211+P711212+P711213+P711214+ 

P711215+P711216+P711217+P711218+P711219 

Error  

3 

M712 aggregation checks on : 

TOTAL=P71201+OTH 

P71121=P711211+P711212+P711213+P711214+ 

P711215+P711216+P711217+P711218+P711219 

Error  

4 

M732 aggregation checks on : 

TOTAL=P71201+OTH 

P71201=P712011+P712012+P712013+ 

P712014+P712019 

P73201=P732011+P732012+P732013+P73201A 

Error  

 

   

   

Series 8B, 8D, 8F  

 

   
Rule  

No. 
Check Severity 

1 

For all NACE codes, aggregation checks on : 

Total=M21+M22 (In case the Total is delivered) 

M22=M221+M222 

Error  

 

 

 
  

   

2. Inter series comparison 

 

   Inter Annex  8 -  General check on comparison of the correct series 

 

8A-8B For all NACE codes 

   

   

   Total 8A= Total 8B= SUM (M21+M22) 8B (differences of 2% allowed) 

 

   8C-8D For all NACE codes 

   Total 8C= Total 8D= SUM (M21+M22) 8D (differences of 2% allowed) 

 

  



3 

 

8E-8F For all NACE codes 

   Total 8E= Total 8F= SUM (M21+M22) 8F (differences of 2% allowed) 

   
 

    Comparison with 1B  - General check on comparison of the correct series 

  

 Rule for all NACE codes: Total turnover should equal to turnover of enterprises with more 

than 20 persons employed in 1B. Differences of 2% are allowed. 

 

For 8A, 8C and 8E Total = SUM size classes 20-49, 50-249 and 250+ in 1B (differences of 

2% allowed) 

 
 

    For 8B, 8D and 8F Sum of M21 and M22 = SUM size classes 20-49, 50-249 and 250+ in 1B 

(differences of 2% allowed) 
 

 


